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BEANRE ATMEE IR B RGEOREMR)HE R )M THE(E2R)

£ g I - KT & BfT 8 2 B & % m =

BEEIEE 67, 426, 507
#E (BB 15, 388, 807
T 534,730
T 534,730
FR{E 177,800
1 EKiE 700. 00 254 177, 800

m3
#REL 356, 930
2 #BRL 700. 00 509. 9 356, 930

m3
WE - RET 2,567, 905
WE - RET 2,567, 905
A 270, 000
R:Z=0) 30~20mm  t=30cm 50. 00 3,212 160, 600

m2
4 BEQ 5~2.5mm t=20cm 50. 00 2,188 109, 400

m2
Wb — FEEO 1,225, 031
5 MHE T —b) 111.00 1,290 143,190

m2
6 #HE (S — b LOMER) 1.00 347,080 347,080

=
T HHE (RTULABHR) 1.00 96, 400 96, 400

=
8 PR — FEERD 111. 00 5, 751 638, 361

m2




BEANRE AR SRR DR X)) 52 (S B M 4 TH(E2R)
REER T O & At 822, 540
9 BRIJOv RO I-A2tSKEUFZHE E] 141,00 5,734 808, 494
&
10 BRI Oy 7RO 1-A 2t SKE i &7 3.00 4,682 14, 046
&
TR — FERER 7,232
1 RS — F R 16.00 452 7,232
m2
BRiITEavsy—F 169, 239
12 BEFiTHav 5 ) —k 18N-8-40BB  W/C=65% 7.00 24,177 169, 239
m3
EEEPZDEL 71, 340
1B EEICII—F 18N-8-40BB  W/C=65% 2.00 35, 670 71, 340
m3
fifiE B i 2,523
14 EEEH®RD 1.00 2,523 2,523
m2
A - BT 3,773, 660
EA - BT 3,773, 660
RS — FEIEROQ 726, 975
15 B5ib S — FEEROQ 405. 00 1,795 726, 975
m2
»a 454,584
16 BEQ RC-40 282. 00 1,612 454, 584




BEANRE ATMEE IR B RGEOREMR)HE R )M THE(E2R)

ER 772, 840

17T E£R/ 50~ 150mm 278.00 2,780 772, 840
m2

FBEAOM-2) 74,970

18 A W-2)D 350. 00 214.2 74,970
m3

TREER 175, 805

19 THEEHROD 350. 00 502.3 175, 805
m3

=g+ 53,022

20 =L 242.00 219.1 53,022
m3

®a 69, 316

21 BE® RC-40 43.00 1,612 69, 316
m2

Eilp s 827,632

22 SR Pe4E 3T HE ) 83.00 9,724 807,092
m2

23 ARELRIP4E ST HE ) 2.00 10, 270 20, 540
m2

a3 )—+Fk 613, 470

24 L&V )—F 18N-8-40BB  W/C=65% 26.00 23,595 613,470
m3

CEHEE 5,046

25 HiEEHO 2.00 2,523 5, 046
m2




BEANRE ATMEE IR B RGEOREMR)HE R )M THE(E2R)

SHEET 2,058,993

aAVH—MEET 1,447,766

»a 335, 296

26 #EG® RC-40 208. 00 1,612 335, 296
m2

e B th 20, 184

27 HHEEHBO 8.00 2,523 20, 184
m2

MHE (FEEH) 101, 296

28 MHE (FEERA) 208. 00 487 101, 296
m2

Kz y—F 990, 990

29 KmpEaHY—F 18N-8-40BB  W/C=65% 42.00 23,595 990, 990
m3

aVH Yy — LD 611,227

HEHmA 2, 600

30 HE® RC-40 2.00 1,300 2, 600
m2

RIREE - RE - B 461, 042

31 BRAE - BRE - BE 58. 00 7,949 461, 042
m2

e B th 2,523

32 HiEEHB® 1.00 2,523 2,523
m2




BEANRE AFAE RSB ECEDEMR)E R B T E(E2R)

NOwHarvsy—+ 145, 062

33 /phAkHary)—+ 18N-8-40BB  W/C=65% 6. 00 24,177 145, 062
m3

RE&T 6, 453,519

RE& T 5,515, 927

KETDSHE 160, 818

M KETDSHED 209. 00 742 155,078
£

3B KETDSHEQ 7.00 820 5, 740
42-%

WIS E SE 3,952

36 mREXRE LD S KER B73 1.00 3,952 3,952
=

no& 25, 000

37 nnE (ERELIOSR) ®B73 0.50 50, 000 25, 000
t

&A1) 29,131

38 FEA(-2)@ 136. 00 214.2 29,131
m3

TREER 68,312

39 TREEHRO 136. 00 502.3 68, 312
m3

KE+ DS HE - BB 865, 096

40 KRBT 0S5 EE - B/E 136. 00 6, 361 865, 096
42-%




BEANRE AFAE RSB ECEDEMR)E R B T E(E2R)

L] 999, 613

41 $=EAI 2,371.00 421.6 999, 613
m3

TR ER 1,190, 953

42 LREERO 2,371.00 502.3 1,190, 953
m3

ERHL 25,196

43 EFHL 115.00 219.1 25,196
m3

#R 1,049, 400

4 HHE (ERER) #AE5~100ke/IEFEE (BBAM) 198. 00 5,300 1,049, 400
m2

BaEHL 859, 992

45 BERHLO fEE  +20cm 63. 00 3,480 219, 240
m2

46 BEHLO [EE#%FH  =20cm 124. 00 3,820 473, 680
m2

47 ERHLO [£L#fFH  +20cm 32.00 5,221 167,072
m2

HEIJRyIERE 238, 464

48 ERIA v VEE AREIOyH2tE 48.00 4,968 238, 464
&

TEXER 937, 592

RBFEZRE 937, 592

49 RBHFBEE 1.00 937, 592 937,592
=




BEANRE AFAE RSB ECEDEMR)E R B T E(E2R)

ERERD 52,037, 700
BET 52,037, 700
BET 52,037, 700
MRE (BEW) 50, 700, 000
50 M & (ZEW) A 13, 000. 00 3,900 50, 700, 000

m3
B ith 1,337, 700
51 Eih 13, 000. 00 102.9 1,337,700

m3




WIER DHAFEREEER(GOEMRERBR)MHEIEE2R)

% g R - KSR Bifr B 2 B i & B W =
EEIEE 67, 426, 507
MEIEE 6,816,632 + 18,441,995 25, 258, 627
HERERE GDH 6,311,121 + 505,511 6,816, 632
HBERER (R) 67,426,507 x 9.36% ((7.68% x1.00 +1.50% x 1.02) 6,311, 121
BSRENER 67,401,507 x 0.75% 505, 511
Regng 74,243,139 x 24.84% ((22.50% +1.62%) x 1.03) 18, 441, 995
TR 67,426,507 + 25,258, 627 92, 685, 134
—REEES 92,685,134 x 17.26% (17.26% x 1.00) — 9,662 15, 987, 792
LR E 92,685,134 x 0.04% 37,074
T &l 92,685,134 + 15,987,792 + 37,074 108, 710, 000
HETEALE 108,710,000 x 10.00% 10, 871, 000
FEIZRE 108, 710,000 + 10, 871,000 119, 581, 000
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51

RH4FEREEER(GOEBR)ERQRIMBEIEE2R)

H .
& KiE Tm3HyY
£ b g - BIRTE BT = B O # " =
73]
m3 1.000 254 254
& B 1E%HEH : 1.00m 3 254 254
&5 .2
&% BRL Tm3%Y
£ b g - BIRTE BT = B O # " =
HRL
m3 1.000 509.9 509.9
& B 1E%HEH : 1.00m 3 509.9 509.9
5.3
£ BAD® 30~20mm  t=30cm Tm2 %y
£ b g - BIRTE BT = B O # " =
»ad 30~20mm t=30cm
m2 1.000 3,212 3,212
= H YEEREN : 1.00m 2 3,212 3,212
Hz5:4
£ BAQ 5~2.5mm  t=20cm Tm2 %y
£ b g - BIRTE BT = B Ol # " =
=rle) 5~2.5mm t=20cm
m2 1.000 2,188 2,188
= H YEEREN : 1.00m 2 2,188 2,188
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RH4FEREEER(GOEBR)ERQRIMBEIEE2R)

&5 :5
B MEE BRI —) AHY (Im2)
% b 3R - ks Bf £ B £ & & &
PR S — +
m 2 1.00 1,290. 00 1,290
A & E2E:H - 1.00m 2 1,290. 00 1,290
&S5 :6
B MEE R — bR KHY (A=X)
% b 3R - ks Bf £ B £ & & &
BFRY & — M LR $S400. W=60mm. L=800mm
P 100. 00 3,270. 00 327,000
BFRY S — M IEHSEEQ $S400. W=60mm. L=960mm
P 4.00 5, 020. 00 20, 080
A & EZRES 1,00 347, 080. 00 347,080
&5:7
£ MREE (RTULRBHIR) KLy (1K)
% b 3R - ks Bf £ B £ & & &
2T v LRABMIR SUS304 W=200mm. L=970mm
m 2 10. 00 9, 640. 00 96, 400
A & EZRES 1,00 96, 400. 00 96, 400
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5.8
&5 B — FEERD 1B4Y (Im2)
£ Eo) R - AR BT £ B % m = 5 =
Ny IR (B A X5 RE) 1LI%50. 8m3 (FFF50. 6m3)
=] 0.03 70, 276. 00 2,1086.30H / 8H
HEEE
A 0.03 28, 670. 00 860
H%EXE
A 0.03 26, 670. 00 800
LEE%E
A 0.09 19, 010. 00 1,710
HAH =730
% 5.00 5,478.00 273
& i 1E%HEH : 1.00m 2 5,751.00 5, 751
5.9
B BERIOy VEMD 1-AM2tSKEMZHE 1TAHY (914&)
£ Eo) R - AR BT £ B % m = 5 =
STTFL—29 b—y B A AR ER) GHE#ES T8 25t R
=] 1.00 54, 100. 00 54,100 8H
STTFL—29 b—y B A AR ER) GHE#ES T8 25t R
=] 1.00 54, 100. 00 54,100 8H
bSv Y 11t58
=] 6.00 47, 608. 00 285, 648 /4. 70H / 8H
LU
A 2.00 24, 680. 00 49, 360
LEE%E
A 4.00 19, 010. 00 76, 040
HAH =730
% 0.50 519, 248. 00 2,596
& i YE%8E71 ¢ 91. 0018 5,734.00 521, 844
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=:10

B8 BRIOYIEEQ  1-2b2tSKEHH

RH4FEREEER(GOEBR)ERQRIMBEIEE2R)

1BHY (9118

2 b g - BIRTE BT o = B O %8 W = " =
STFL—29L—r A AR ER) GhE i I8 25t R
B 1.00 54,100. 00 54,100 8H
STFL—29L—r A AR ER) GhE i I8 25t/
B 1.00 54,100. 00 54,100 8H
cSwo 11t35
B 4.00 47, 608. 00 190, 432 4. 70H / 8H
U
A 2.00 24, 680. 00 49, 360
LTEEXE
A 4.00 19, 010. 00 76, 040
MR EXENOY
% 0.50 424,032. 00 2,120
& B 1YEZRES - 91. 001& 4,682.00 426, 152
&5 11
& REBLE S — FERER 1H%Y (600m2)
2 b g - BIRTE BT H = B O %8 W = " =
REBLEY—
m2 660. 00 150. 00 99, 000
LEEXS
A 9.00 19, 010. 00 171,090
MR EXENOY
% 0.50 270, 090. 00 1,350
& B YEZERES : 600.00m 2 452.00 271, 440
&5 .12
&% BEFfTba>4s J—++  18N-8-40BB  W/C=65% 10m3%HY
2 b g - BIRTE BT H = B Ol %8 W = " =
LT4—3HRbary)—+F 18N-8-40BB W/C=65%
m3 10. 30 19, 400. 00 199, 820
a9 1) — T (EETEE) yL—rtkE
m3 10. 00 2,625.00 26, 250
STFL—29L—r A AR ER) GhE e I8 35tH
B 0.20 78, 500. 00 15,700 8H
& Hi YEZERESN - 10.00m 3 24,1717.00 241,770
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RH4FEREEER(GOEBR)ERQRIMBEIEE2R)

&5 .13
&% MEgEar o) —F+  18N-8-40BB  W/C=65% Tm3HY
2 b g - BIRTE By = BHO(f ) # " =
mEaro)—+Fk 18N-8-40BB  W/C=65%
m3 1.000 35, 670 35,670
& Hi 1E%HEH : 1.00m 3 35, 670 35,670
&S 14
& ¥ s O 100m2%Y
2 b g - BIRTE By = BHO(f ) # " =
HEEHT (BEEER) t=10mm
m2 100. 00 2,523.00 252, 300
& Hi YEZERES : 100.00m 2 2,523.00 252, 300
&5 .15
L L — FEERQ 1BHY (600m2)
2 b g - BIRTE By = BHO(f ) # " =
BHb S — b &
m2 660. 00 1, 290. 00 851, 400
SOTL—29L—r hEEBES J8]  16tH
B 1.00 49, 400. 00 49, 400
LEEXS
A 9.00 19, 010. 00 171, 090
MR 2E0%
% 0.50 1,071, 890. 00 5,359
& B YEZERES : 600.00m 2 1, 795. 00 1,077, 249
&5 .16
&% BEQR RC-40 Tm2%y
2 b g - BIRTE By = BHoO(f ) # " =
Bmad RC-40
m2 1.000 1,612 1,612
= H YEZEREN :1.00m 2 1,612 1,612
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=17
&% ER  50~150mm Tm2 %y
2 b g - BIRTE By = il # " =
b 50~ 150mm
m2 1.000 2,780 2,180
= H YEEREN :1.00m 2 2,780 2,780
&= .18
W BAUW-2)D Tm3%Y
2 b g - BIRTE By = il # " =
BAO-2)D
m3 1.000 214.2 214.2
& Hi 1E%HEH : 1.00m 3 214.2 214.2
&5 19
&% . TREERD Tm3%KY
2 b g - BIRTE By = il # " =
TREERD
m3 1.000 502. 3 502.3
& Hi 1E%HEH : 1.00m 3 502. 3 502.3
5:20
&% BEL Tm3%KY
2 b g - BIRTE By = il # " =
=gt
m3 1.000 219.1 219.1
& B 1E%HEH : 1.00m 3 219.1 219.1
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RH4FEREEER(GOEBR)ERQRIMBEIEE2R)

&5 21
& BE@ RC-40 Tm2%HYy
2 b g - BIRTE By = B ) # " =
ma® RC-40
m2 1.000 1,612 1,612
= H YEEREN :1.00m 2 1,612 1,612
&5 .22
£ SRB AN 100m2%Y
2 b g - BIRTE By = B ) # " =
BB A AR (AR yL—rtkE
m2 100. 00 8, 736. 00 873, 600
STFL—29L—r A AR ER) ChEES IR 16tH
B 2.00 49, 400. 00 98, 800 8H
& Hi YEZERES : 100.00m 2 9,724.00 972, 400
&5 .23
£ ARBRAAT SN 100m2%Y
2 b g - BIRTE By = B ) # " =
AR AN (EH) yL—rtkE
m2 100. 00 9,776.00 977, 600
STFL—29L—r A AR ER) ChEfES IR 16tH
B 1.00 49, 400. 00 49, 400 8H
& Hi YEZERES : 100.00m 2 10, 270. 00 1,027,000
BS54
&% E&a o) —Fk 18N-8-40BB W/C=65% 10m3%HY
2 b g - BIRTE By = B ) # " =
LT4—3HRbary)—+F 18N-8-40BB W/C=65%
m3 10. 30 19, 400. 00 199, 820
a9 1) — MTE (EEITEE) yL—rtkE
m3 10. 00 2,625.00 26, 250
STFL—29L—r A AR ER) ChEfiES JE)16tH
B 0.20 49, 400. 00 9, 880 8H
& Hi 1E%HESH - 10.00m 3 23, 595. 00 235, 950
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RH4FEREEER(GOEBR)ERQRIMBEIEE2R)

&5 :25
& HiEE 1O 100m2%Y
2 b g - BIRTE By = B ) # " =
HEEHTI (BEEER) t=10mm
m2 100. 00 2,523.00 252,300
& Hi YEZERES : 100.00m 2 2,523.00 252, 300
&5 :26
&% BEG® RC-40 Tm2%yY
2 b g - BIRTE By = B ) # " =
REG RC-40
m2 1.000 1,612 1,612
= it YEEREN : 1.00m 2 1,612 1,612
&5 :21
& HiEE 1O 100m2%Y
2 b g - BIRTE By = B ) # " =
HEEHTI (BEEER) t=10mm
m2 100. 00 2,523.00 252, 300
& Hi 1E%HEH : 100.00m 2 2,523.00 252, 300
&5 :28
2% MEE (FEEN) myY (Im2)
2 b g - BIRTE By = B ) # " =
BEEWE (G355 1) #6. 0x150x%x150
m2 1.00 487. 00 487
& Hi E%EEN : 1.00m 2 487.00 487




Rifiz -/ \v7r—o

RH4FEREEER(GOEBR)ERQRIMBEIEE2R)

529
&% kipEa>H1)—+ 18N-8-40BB  W/C=65% 10m3HY
2 b g - BIRTE By = B ) # " =
LT4—3HRbarvy)—+F 18N-8-40BB W/C=65%
m3 10. 30 19, 400. 00 199, 820
a9 1) — MTE (EEITEE) AVEZ T
m3 10. 00 2,625.00 26, 250
ST7TL—r9L—2r HEHEARRER) ChEfES IR 16tH
B 0.20 49, 400. 00 9,880 8H
& Hi 1E%HESH - 10.00m 3 23, 595. 00 235, 950
&5 :30
&% BE® RC-40 Tm2%y
2 b g - BIRTE By = B ) # " =
=316 RC-40
m2 1.000 1, 300 1,300
= it YEZEREN : 1.00m 2 1,300 1,300
&5 : 31
£F5 BRRME - RE - BE 100m2& Y (100m 2)
2 b g - BIRTE By = B ) # " =
HEEE
A 3.50 28, 670. 00 100, 345
BhH<T
A 13.50 28, 140. 00 379, 890
LEEXS
A 11.10 19, 010. 00 211,011
MR
% 15. 00 691, 246. 00 103, 686
& B YEZERES : 100.00m 2 7,949. 00 794, 932
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RH4FEREEER(GOEBR)ERQRIMBEIEE2R)

&5 .32
& HiEE @ 100m2 %Y
2 b g - BIRTE By = BHO(f %8 # " =
HEEHTI (BEEER) t=10mm
m2 100. 00 2,523.00 252,300
& Hi YEZERES : 100.00m 2 2,523.00 252, 300
&5 .33
&% /hakHa>sy—+r  18N-8-40BB  W/C=65% 10m3HyY
2 b g - BIRTE By = BHO(f %8 # " =
LT4—3HRbarvy)—+F 18N-8-40BB W/C=65%
m3 10. 60 19, 400. 00 205, 640
a9 1) — T (EETEE) yL—rtkE
m3 10. 00 2,625.00 26, 250
STFL—29L—r A AR ER) ChEES IR 16tH
B 0.20 49, 400. 00 9, 880 8H
& Hi YEZERESN - 10.00m 3 24,1717.00 241,770
534
% KB+ S5#HED 1084y
2 b g - BIRTE By = BHO(f %8 # " =
HEER
A 0. 069 28, 670. 00 1,978
HIRIEXS
A 0. 069 26, 670. 00 1,840
N ik EEr
B 0. 069 52, 340. 00 3,611
HHE (F50)
= 1.000 7,429.00 0
& Hi 1YEZHES - 10,00 742.00 1,429
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RH4FEREEER(GOEBR)ERQRIMBEIEE2R)

&5 :35
% KB+ S5#HEQ 10&4Y
£ Eo) R - AR Bifig % = B % 15 5 =
HEEE
A 0.075 28, 670. 00 2,150
H%EXE
A 0.075 26, 670. 00 2,000
SOTL—29L—r [HEEBSIR] 25t/
=] 0.075 54, 100. 00 4,057
HHE (F50)
= 1.000 8,207.00 0
& it YEZ8e 7 10. 0088 820. 00 8, 207
&5 : 36
G FRAFRELOSRER BITS HEED)
£ Eo) R - AR Bifig % 2 B % 15 5 =
FERFAELOD S BBk B7S5
= 1.000 3,952 3,952
& it Vet - 1. 00 3,952 3,952
&5 :317
& WHE (FRAFLOSR) KEIS t (1t)
£ Eo) R - AR Bifig % 2 B % 15 5 =
B B7S5
t 1..00 50, 000. 00 50, 000
& Hi 1YE%HESH - 1.00t 50, 000. 00 50, 000
&5 :38
2% F\AO-2)Q Tm3%yY
% Eo) R - AR Bifig % 2 B % 15 5 =
N IA)
m 3 1..000 214.2 214.2
& it EZREH - 1.00m 3 214.2 214.2
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RH4FEREEER(GOEBR)ERQRIMBEIEE2R)

&5 :39
&% . TREERO Tm3HyY
2 b g - BIRTE By = il ) # " =
TREERQ
m3 1.000 502. 3 502.3
& Hi 1E%HEH : 1.00m 3 502. 3 502.3
&S 40
B RELDS81E - RiE L ED)
2 b g - BIRTE By = il ) # " =
HEEE
A 0.278 28, 670. 00 7,970
HIRIEXS
A 0.278 26, 670. 00 1,414
LEEXS
A 0.278 19, 010. 00 5,284
REEDSEM H=1. 08m W=1. 1m
= 10. 000 2,620.00 26, 200
N ik EEr
B 0.278 57, 280. 00 15, 923
EME (E+FEHH)
% 4. 000 20, 668. 00 819
& Hi 1YEZRES - 10,00 6, 361. 00 63,610
=5 41
%5 fEHEl Tm3HyY
2 b g - BIRTE By = il ) # " =
iR Hl
m3 1.000 421.6 421.6
& B 1E%HEH : 1.00m 3 421.6 421.6
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=)
£ . THEERO Tm3HyY
2 b g - BIRTE By = B O ) W = " =
TREEROG
m3 1.000 502. 3 502.3
& Hi 1E%HEH : 1.00m 3 502. 3 502.3
&5 .43
2% FEHL Tm3HyY
2 b g - BIRTE By = B O ) W E " =
ERHL
m3 1.000 219.1 219.1
& Hi 1E%HEH : 1.00m 3 219.1 219.1
54
& MEE (ERIER) #A5~100kg/EREE (BAF) myY (Im2)
2 b g - BIRTE By = B O ) W E " =
ey 5~100kg/{&
m3 1.00 5,300. 00 5,300
& B 1E%HEH : 1.00m 2 5, 300. 00 5, 300
&S .45
& EEHLO REL  +20cm 100m2%Y
2 b g - BIRTE By = B Ol ) W = " =
Ny IR (B A X5 RE) 1LF50. 8m3 (FFFE0. 6m3)
B 1.10 72, 859. 00 80, 144/6. 30H / 8H
LTEEXE
A 14.00 19, 010. 00 266, 140
MM 2RD%
% 0.50 346, 284. 00 1,731
& B 1E%HEH : 100.00m 2 3, 480. 00 348,015
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&S .46
& EEHLO RELEHFS  +20cm 100m2%HY
2 b g - BIRTE By = B O %8 W = " =
Ny IR (B A X5 RE) 1L1F%0. 8m3 (F350. 6m3)
B 1.20 72, 859. 00 87,430/6.30H / 8H
LEEXS
A 15.40 19, 010. 00 292, 754
MR 2E0%
% 0.50 380, 184. 00 1,900
& B YEZERES : 100.00m 2 3,820.00 382,084
&5 .47
& EEHLO RELEHFSL  +20cm 100m2%HY
2 b g - BIRTE By = B O %8 W E " =
Ny IR (B A X5 RE) 1L1F%0. 8m3 (F350. 6m3)
B 4.00 72, 859. 00 291,436 /6. 30H / 8H
LEEXS
A 12.00 19, 010. 00 228,120
MR EXENOY
% 0.50 519, 556. 00 2,597
& B YEZERES : 100.00m 2 5,221.00 522,153
&S .48
& HEIOYOEBRE AMIDvo2tR EZY (40ME)
2 b g - BIRTE By = B O %8 W E " =
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